Product Code BRSPK4 Unit EACH

Description
SCHOOL PROJECT KIT

METAL PULLEY CRANE

Product Code QFO1 Unit EACH Product Code QFAMHO062 Unit PACK
Description Description
QUALITY FASTENER STAND- FREE TOP BOLT HOOK M¢

M8 (QFAMHO082)

M10 (QFAMH102)

PG

1 mam
ns

Product Code BRSPKICSP
Description
SCHOOL PROJECT KIT

ICE CREAM STICKS
20PCS

Unit PACK

Product Code QFABI1722 Unit PACK Product Code QFANS5035 Unit PACK
Description Description

ANGLE BRACKETS 17 X 22MM NAIL-IN-ANCHORS 5 X 35MM

39 X 22MM 6 X 35MM, 6 X 40MM, 6 X 55MM

50 X 19MM 6 X 70MM, 8 X 60MM, 8 X 75MM

48 X45X 48 8 X 100MM

" o mm— ——

I

Product Code BRSTP819P Unit PACK
Description

SELF TAPPER PAN

POZINO. 8X19 EG
100'S

Product Code QFAMO062 Unit PACK Product Code QFANS503525 Unit PACK

Description Description

SHIELD ANCHORS M6 NAIL IN ANCHOR 5 X 35MM 25'S
M8 (QFAMO082) 6X40MM, 6X55MM, 6X70MM
M10 (QFAM102) 8X60MM, 8X75MM, 8X100MM

8X120MM

Product Code BRSTP819S
Description

SELF TAPPER PAN

SLOT NO. 8X19 EG

100'S

Unit PACK

Product Code QFBC891

Product Code QFAME062 Unit PACK Unit PACK
Description Description

TOP BOLT EYE M¢ BUNGEE CORD WITH HOOK

M8 (QFAMEO082) 8 X 900MM

M10 (QFAME102)

Page 1 of 11



BATH PLUG  «
+CHAIN (|1

3BMMX1PC :j
Product Code QFBP02 Unit PACK Product Code QFBPC3801 Unit EACH Product Code QFCCSO05 Unit PACK
Description Description Description
BITS - POZI PZ2 BATH PLUG + CHAIN 1'S CABLE CUP SQUARE 5MM (20PCS)
38MM 6MM, 7TMM, SMM

9MM, 10MM

S ape il

A

BONDED WASHERS orswexzo

I

D) (1 m—
QUL R e R S

arce2

LT

Product Code QFBP3201 Unit EACH

Description
BASIN PLUG I'S

32MM

Product Code QFBW62010 Unit PACK

Description
BONDED WASHER 6 X 20MM (10PCS;

6 X 20MM (25PCS)

Product Code QFCE2 Unit PACK

Description
CURTAIN ENDS 2'S

QQF-? &

BATHERRS il

D) (1 o

QUALITY FASTENERS

0 I RIGHT THE FIRST TIM

CORNER BRACE N‘MIT

omveR smAcE i il

3

Product Code QFBP3801 Unit EACH

Description
BATH PLUG 1I'S

38MM

Product Code QFCB502 Unit PACK

Description
CORNER BRACE METAL 50MM 2'S

75MM (QFCB752)

Product Code QFCH1610 Unit PACK
Description

CUP HOOK B/P 16MM (10PCS)

19MM, 25MM
32MM, 38MM, 50MM (5PCS)

EASIN PLUG =
A L

c.

i

o

I 1
I 1

Product Code QFBPC3201 Unit EACH

Description
BASIN PLUG WITH CHAIN 1'S

32MM

Product Code QFCCRO5 Unit PACK
Description

CABLE CLIP ROUND 5MM (20PCS)

6MM, 7TMM, 8MM,
9MM, 10MM

Product Code QFCHHD100 Unit PACK

Description
CUP HOOK H/D 100MM (1PCS)

60MM, 80MM

Page 2 of 11



-

Product Code QFCP20 Unit PACK Product Code QFCTBTI18R Unit PACK Product Code QFDHO02 Unit PACK
Description Description Description
CORK PROTECTORS 20'S CABLE TIES - BLACK 100 X 2.5MM DOOR HOOK 2'S
148 X 3.5MM, 305 X 4.7MM
392 X 4.7MM, 198 X 4.7MM
=
e |
Q G wam— % (“m 1
QUALITY EASTENERS I 22 \J
[ - il
J L
ws \/
Product Code QFCS50 Unit PACK Product Code QFCTWTI18R Unit PACK Product Code QFDRPHO02 Unit PACK
Description Description Description
CURTAIN SLIDES 50'S CABLE TIES - WHITE 100X2.5MM D RING PICTURE HOOK 2'S

148 X 3.5MM, 305 X 4.7MM
392 X 4.7MM, 198 X 4.7TMM

Product Code QFCSB2 Unit PACK Product Code QFCWO03 Unit PACK
Description Description
CURTAIN SINGLE BRACKETS 2'S CURTAIN WIRE + HOOK & EYE

1 X 3MT

Product Code QFDSO1 Unit PACK

Description
DOOR STOP (1PCS)

Product Code QFCT02 Unit PACK Product Code QFCWR25 Unit PACK
Description Description
CLICK TAGS 2'S CURTAIN WHEEL

RUNNERS 25'S

Product Code QFDS06 Unit PACK

Description
D - SHACKLE 6MM (1PCS)

8SMM, 10MM

Page 3 of 11



 — @Fw

QUALITY FASTENERS

DO IT RIGHT THE FIRST TIME

CONNECTORs [ji
smmxspcsi:ll;ooul:s ¢ “"’ I MLI }’ "’
L —‘

‘/,’

Product Code QFDSS12 Unit PACK

Description
DOUBLE SIDED SQUARES

24MM X 12 PCS

Product Code QFEH04 Unit PACK
Description

EASY HOOK 4'S

Product Code QFETC6BR Unit PACK

Description
TERMINAL CONNECTOR 6MM

BLUE ROUND 5'S

Q(?me»

THE FIRST TIME
FETCART
X5PCS R'TAB m Ju

QUALITY FASTENERS
CONNECTORS MMU

P ) @Fm

QUALITY
0017 fignT it Finsr e B S

c.CI;NﬁECTORS UMJMMHHN[

SMMXSPCS RIDISC

o

Product Code QFDSTI18 Unit PACK Product Code QFETC4RT Unit PACK Product Code QFETC6RD Unit PACK
Description Description Description
DOUBLE SIDED TAPE 18MM X IM TERMINAL CONNECTOR 4MM TERMINAL CONNECTOR 5'S
18MM X 0.8MM X IM RED TAB 5'S 6MM
24MM X IMM X IM
WIRE CONNECTOS cLs
TERM | NAL QFETC8BD
connecTors [l sec  Lre Il
8MMX5PCS B/DISC  **7" P _—
>
e ey v
Product Code QFDWO1 Unit PACK Product Code QFETC6BD Unit PACK Product Code QFEWCLS Unit PACK
Description Description Description
DOOR WEDGE (1PCS) TERMINAL CONNECTOR 6MM WIRE CONNECTORS LRG 5'S
BLUE DISC 5'S SML (QFEWCSS)
8MM (QFETC8BD)
4 4 BN bQ 1 w—
. E‘LEN%?“ “"’“""{l’m | QUALILY, “: S.:ss,.ms RS
<5 3
= BOL
CONx'g gg;rORs MMJL MIH i. Zecs Vel unujj,mmu

Product Code QFEBN10100  Unit PACK Product Code QFETC6BF Unit PACK Product Code QFFB06202 Unit PACK
Description Description Description
EYE BOLT+NUT 10 X 100MM (1PC) TERMINAL CONNECTOR 6MM BOLTS GALVANISED 2'¢
6 X 100MM, 6 X 150MM BLUE FORK 5'S 6 X 20MM
8 X 100MM, 8 X 150MM 6 X 30MM
10 X 150MM 6 X 40MM

Page 4 of 11



2PCS M6X20MM alll]u.l;ljﬂ,llm

B {1 t———

QUALITY FASTENERS
Do-17 AIGHT THE FIRST TIME
FENDER WASHERS [jm"@m

-—a iﬁm (o
Product Code QFFB08202 Unit PACK Product Code QFFNLO6 Unit PACK Product Code QFFWFRO05 Unit PACK
Description Description Description
BOLTS GALVANISED 2'¢ NYLOC NUTS 6MM FENDER WASHERS M5
8 X 20MM 8SMM (QFFNLO08) M6 (QFFWFRO06), M8 (QFFWFRO08)

8 X 30MM, 8 X 50MM 10MM (QFFNLI10) M10 (QFFWFR10), M12 (QFFWFR12)
8 X 75MM
BOLTS - '
2pcs mexzowm [[[[[1) checee ek, i ,

- “ Ce® mﬂ o
Product Code QFFB10302 Unit PACK Product Code QFFSMO04161 Unit PACK Product Code QFFWFTO05 Unit PACK
Description Description Description
BOLTS GALVANIZED 2' SCREWS-MACHINE 4 X 16MM(10PCS) WASHERS - FLAT M5 (10PCS
10 X 30MM 4 X 20MM, 4 X 30MM M6 (QFFWFT06), M8 (QFFWFT08)

10 X 50MM 5X 16MM, 5 X 20MM M10 (QFFWFT10)
10 X 75MM 5 X 30MM M12 (QFFWFT12)
‘éoL.v'My%‘;TE‘"“S
GUTTER BOLTS
I
i Ll!”lUﬂMUJﬂI
Product Code QFFGB0620 Unit PACK Product Code QFFST55201 Unit PACK Product Code QFFWPO05 Unit PACK
Description Description Description
GUTTER BOTS & NUTS 6 X 20MM SCREWS-TEK 5.5 X 20MM (10PCS) WALL PLUGS 5MM (20PCS;
6 X 30MM (QFFGB0630) 25MM, 30MM, 60MM 6MM, SMM
6 X 50MM (QFFGB0650) 65MM, 75MM 10MM, 12MM (10PCS)
s:'ﬂ:fsw“s"“s T
@ §

Product Code QFFNO05 Unit PACK Product Code QFFSTBO1 Unit PACK Product Code QFFWS06 Unit PACK
Description Description Description
NUTS M5 SCREWS - TEK BIT 5/16" (1PCS) WASHER SPRING 10'S
M6 (QFFN06), M8 (QFFNO0S) M6
M10 (QFFN10), M12 (QFFN12) M8 (QFFWSO08)

M10 (QFFWS10

Page 5 of 11



P §
QUALITY FASTENERS
o A Ay M R ]

QFGHE150

L

Product Code QFGHE75 Unit PACK

Description
GATE HOOK + EYE 75MM (1PC)

100MM, 150MM

Product Code QFKIO6 Unit PACK

Description
KEY IDENTIFIER 6'S

Product Code QFMCS4 Unit PACK

Description
MIRROR CLIPS WITH SCREWS 4'S

e

QUALITY FASTENERS

i

(COUNTERSUNK) r!lj!m
10PCs axdomm )

>

Product Code QFHC1022 Unit PACK Product Code QFKRO1 Unit PACK Product Code QFMSCS420 Unit PACK
Description Description Description
HOSE CLAMPS 10 X 22MM (4PCS) KEY RING (1PC) MACHINE SCR.C/S 4 X 20MM
7-17TMM, 14-27MM, 14-32MM 10PCS
17-38MM,19-44MM,40-64MM (2PCS) 4 X 30MM, 4 X 40MM
)
QY wm—— ;
QUALIZY FASTENERS R
arnpo2 £ Y ;.
L
: B v U
aca )
Product Code QFHP02 Unit PACK Product Code QFKTO06 Unit PACK Product Code QFNAS0320 Unit PACK
Description Description Description
HANGING PLATE 2'S KEY TAGS (6PCS) MASONARY NAILS 32MM

40MM (QFNAS0400)
50MM (QFNASO0500)
75MM (QFNAS0750)

2 i

Product Code QFJHO1 Unit EACH

Description
JHOOK 1'S

Product Code QFLKHO1 Unit EACH

Description
LICENSE KEY HOLDER

QUALITY FASTENERS

Product Code QFNC251 Unit PACK
Description

CLOUT NAILS 25MM

32MM (QFNC321)
40MM (QFNC401)

Page 6 of 11



il

f———

Product Code QFNP0251 Unit PACK

Description

ROUND WIRE NAILS 25MM
38MM(QFNP0381), 5S0MM(QFNP0502)
75MM(QFENP0752)
100MM(QFNP1002)

Product Code QFPD25 Unit PACK

Description
PULLEY DOUBLE 25MM (1PCS)

32MM, 38MM

Product Code QFR23206 Unit PACK

Description

RIVETS 3.2 X 6MM

32X 10MM, 4 X 10MM, 4 X 12MM
4 X 15MM, 4 X 18MM, 4.8 X 12MM
4.8 X 15MM, 4.8 X 18

QUALITY TENE
O [T RIGHT THE FIRST TIME

Product Code QFNT1350 Unit PACK Product Code QFPP165 Unit PACK Product Code QFR24815F Unit PACK
Description Description Description
TACK NAILS 13MM X 50G PANEL PINS 16MM RIVETS LRG. FLANGE 4.8 X 15MM
20MM (QFPP205), 25SMM (QFPP255) 4.8 X 18MM (QFR24818F)
32MM (QFPP325), 40MM (QFPP401) 4.8 X 21MM (QFR24821F)
Product Code QFNU162 Unit PACK Product Code QFPS25 Unit PACK Product Code QFRBOI1 Unit EACH
Description Description Description
U-NAILS 16MM PULLEY SINGLE 25MM (1PCS) ROBE HOOK 1'S
25MM (QFNU252) 32MM, 38MM
32MM (QFNU322)
40MM (QFNU402)
CVAL HOOKS
il |
Product Code QFOHO02 Unit PACK Product Code QFQLO6 Unit PACK Product Code QFRF194 Unit PACK
Description Description Description
OVAL HOOKS 2'S QUICK LINKS 6MM (1PCS) RUBBER FERRULES 19MM X 4PCS
8MM, 10MM 22MM (QFRF224)

25MM (QFRF254)

Page 7 of 11



LR i

Product Code QFSA082 Unit EACH

Description
SLEEVE ANCHOR M8

M10 (QFSA102)

Product Code QFSCB5100
Description
SCREWS CHIPBOARD 10'S

5 X 100MM

Unit PACK

Product Code QFSE0010
Description

SCREW EYE #00 (10PCS)
#0, #1, #2, #4, #6

#8, #10, #14, #16 (SPCS)

Unit PACK

COACH SCREWS

=2 T

Pm— (f'F
QuakITY £A STE rs J
s
Mw

Product Code QFSC06050
Description

COACH SCREWS & PLUGS 6 X 50MM
6 X 60MM, 6 X 75MM, 8 X 50MM

8 X 60MM, 8 X 75MM, 10 X 50MM

10 X 75MM

Unit PACK

Product Code QFSCNO0325 Unit PACK

Description

STEEL CUT NAIL 32MM
40MM (QFSCNO0405)
50MM (QFSCNO0505)

Product Code QFSHO1 Unit EACH
Description

SOAP HOLDER SUCTION 1'S

By

QUALITY FA
00 ILRIGHT THE

ENERS

IRST TIME

sl T el

F
ST
£

Product Code QFSCB3516
Description

CHIPBOARD SCREWS 3.5 X 16MM
3.5X25,35X30,4X 16
4X20,4X30,4X40,4X50
5X30,5X40,5X50

Unit PACK

Product Code QFSDW3525
Description

DRY WALL SCREWS 3.5 X 25MV
3.5 X 30MM (QFSDW3530)

3.5 X 32MM (QFSDW3532)
3.5X40MM (QFSDW3540)

Unit PACK

Product Code QFSHO02 Unit PACK
Description

STRAP HANGER 2'S

QFsDwaszsy

M

Product Code QFSCB5030
Description
SCREWS CHIPBOARD 20'S

Unit PACK

5 X 30MM
5 X 40MM (QFSCB5040)
5 X 50MM (QFSCB5050)

Product Code QFSDW35251 Unit PACK
Description
DRY WALL SCREW 100'¢

3.5 X25MM

Product Code QFSH1310
Description

SQUARE HOOK 13MM (10PCS)
16MM, 19MM, 25MM

32MM, 38MM, 50MM (5PCS)

Unit PACK

Page 8 of 11



QFSHKRSO

I

Product Code QFSH2100 Unit PACK

Description
S HOOK 100MM 2'S

50MM (QFSH250)

Product Code QFSHKRS50 Unit EACH
Description

SNAP HOOK 50MM

KEY RING

Product Code QFSPKEMO1 Unit EACH

Description
SCHOOL PROJECT KIT

ELECTRO MAGNET
WITH BATTERY

P § o

QUALITY FASTENERS

‘SCHOOL PROJE! arsemson
S e i
- JAWS OF LIFE

N

Product Code QFSH3205 Unit PACK Product Code QFSPC04 Unit PACK Product Code QFSPKJO1 Unit PACK
Description Description Description

SQUARE HOOK 32MM 5'S STEEL PINS CL (4PCS) SCHOOL PROJECT KIT

38MM (QFSH3805) JAWS OF LIFE

50MM (QFSH5005)

P ) - e

QUALITY FASTENERS
o ST TIME

scHOOL PROJEC'I'

2,
L Y

/OOL PROJECT @

on e

=

Product Code QFSH60 Unit PACK Product Code QFSPKBO1 Unit EACH Product Code QFSPKMO1 Unit EACH
Description Description Description
SNAP HOOK 60MM (1PCS) SCHOOL PROJECT KIT SCHOOL PROJECT KIT
70MM, 80MM BUZZER MOTOR

oL | PROJECT

e Hlﬂ! i .
CUIT + BATTERIES Coiaizes folio
Product Code QFSHAS0 Unit PACK Product Code QFSPKCO1 Unit EACH Product Code QFSPWO04 Unit PACK
Description Description Description
SNAP HOOK ALUMINIUM 50MM(2PCS) SCHOOL PROJECT KIT STEEL PINS WHITE (4PCS)
80MM (1PC) CIRCUIT ELECTRIC
BULB

Page 9 of 11



TURN BUCKLE s B
oo o o B

Product Code QFSRO07 Unit PACK

Description
SPLIT RINGS 7'S

ASSORTED

Product Code QFSTCS416
Description

SELF TAPPING SCREW C/S 10'S
4 X 16MM,

4 X 20MM, 4 X 30MM, 5 X 20MM
5 X 30MM, 5 X 40MM

Unit PACK

Product Code QFTBHE6 Unit EACH

Description
TURN BUCKLE 6MM 1'S

8MM (QFTBHES)

Dmm— )

QUALITY FASTENERS

Product Code QFSSO01
Description
SINK STRAINER 1'S

SINK STRAINER S/S (QFSTO1)

Unit EACH

Product Code QFSTPHO02 Unit PACK
Description

SAW TOOH PICTURE HOOK 2'S

Product Code QFTRHO1 Unit PACK

Description
TOILET ROLL HOLDER

QUALITY FASTENERS

_?’m
OUALITV FASTENERS

G mmm

SELF-
SCRIW(Pan Hnd) UM[
20PCS  4X16MM <o

V15

=

QUALITY FASTENERS
DO IT RIGHT THE FIRST TIME
Wl\

M v |7

nwm

'0COD SCREW!
BRASS
20PCS  5X30MM  °

Product Code QFSST4016 Unit PACK
Description

SELF TAPPING SCREWS 4 X 16MM
4X19,4X30,4X40,4X50
5X16,5X20,5X30,5X40

5X50

Product Code QFSWB4020 Unit PACK
Description

WOOD SCREWS BRASS 4 X 20MM
4X25,4X30,4X40,4X50

5X30,5X40,5X50

Product Code QFTRIO1 Unit EACH

Description
TOILET ROLL INSERT 1'S

D—-Q i —

QUALITY FASTENEﬁS
DO IT RIGHT T T

OSTch:PEws snswsarzs
20PCS  4X25MM M‘”‘ LJW

5

M T
(2X1/4)(3X1/2)(2X3/4) « el

Product Code QFSTBN410 Unit PACK

Description
SELF -TAPPING SCREW 4 X 10MM

(BLUNT NOSE) 10'S

Product Code QFSWS4020
Description

WOOD SCREWS STEEL 4 X 20MM
4X25,4X30,4X40,4X50
5X30,5X40,5X50

Unit PACK

Product Code QFTWAOQ7 Unit PACK
Description

TAP WASHERS ASSORTED 7'

2X1/4

3X 172

2X3/4

Page 10 of 11



Product Code QFUB530 Unit PACK
Description

U-BOLT 5 X 30MM (2PCS)

5 X 45MM, 6 X 40MM

8 X 50MM (1PC)

Product Code QFWBRKO1 Unit PACK
Description
WHEEL BARROW REPAIR KIT

Product Code QFWRCI101 Unit EACH
Description

WIRE ROPE CLAMP 10MM 1'S

3MM (QFWRC32)

5MM (QFWRC52)

8MM (QFWRCS81)

Page 11 of 11



